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No BT A H¥lniELE 9 L-134 + 5 L-137 AEE
Ba. kg Bqg. ke Ba ke
1 LWhEm R6.10.4 [RARLULM =T (FBER BRHET(<4.6) BRHET(<3.2) - Janpcc N
2 LWhETH R6.10.4 FREARLWM=1F (5% BRHEE9(<3.9) 5.86 5.9
3 At R6.10.3 BEERLULM=T (FE% BRHEE9(<3.7) BREE9(<4.0) - Janpcic N
4 JIHRET R6.10.4 BRLWM=F (3% BREE9(<4.0) 477 48
5 SEEEE R6.10.2 BEERLULM=T (E% BREE9(<4.0) BREE3(<4.1) - Janpcc N
6 SEEEE R6.10.2 BERLULV =T (7EER) BRHEE9(<3.7) BRHEE9(<3.9) L Janpcac N
7 SEEEE R6.10.2 BERLULV =T (7EER) BREE9(<5.0) BRHEE9(<3.9) Ly Janpcac
8 SEEEE R6.10.3 BERLULV =T (7EER) BRHET(<3.4) BRHET(L3.1) BRHET
9 h &t R6.10.3 BERLULV =T (7EER) BREE3(<44) BRHEE9(<3.2) Ly Janhcac
10 iy =1 R6.10.4 BERLULV =T (7EER) BREEI(<47) BRHEE3(<4.3) Ly Janpcac
11 tSET R6.10.3 BRSO (HER) BRHET(<41) BRHET(<L3.8) BRHET
12 t=ET R6.10.3 BRGSO (%) BHEET(L31) BHEEY(<32) caehcac
13 tEET R6.10.4 BRGSO (%) BHEEY(<32) BHEEY(<3.0) caehcac
14 tSET R6.10.4 BRSO (HER) BRHEE9(<3.3) BEE(<3.1) BRHET
15 tSET R6.10.4 BRSO (HER) BRHEE3(<34) BREE9(<28) BRHET
16 Zth R6.10.3 [RARZE =T (EiHh) BREE3(<48) 4.08 4.1
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No 5 RERH M DESE I L-134 2 L-137 BEE
Ba/ ke Ba/ ke Ba/ kg

17 T4EET R6.10.3 BRARFE 1T (Fth) BREE7(<40) BREET(<37) ‘e

18 T4EET R6.10.3 BRARFEW 1T (Fth) BREE7(<3.8) BRHEE7(<33) ‘e

19 T4EET R6.10.2 BRARFEW 1T (Fth) BREET(<48) BREET(<3) ‘e

20 T SERET R6.10.4 RARFEL =T (F#th) BRHEEY(<27) BRHEEY(<27) BREEY

21 F=IEHT R6.10.4 RARFEL =T (Fith) BRHEEY(<42) BRHEY(<3) BREEY

22 EL:L R6.10.4 FREARZEL=IT (Fth) BRHE9(<35) 7.53 75

23 HEF R6.10.4 BEREL=IT (FBih) BRHEET(<43) BRHEE7(<4.6) BREEY

24 NIm# R6.10.2 BEREL=IT (FBih) BRHE9(<3.3) BRHE9(<35) BREEY

25 N /NG R6.10.4 BRFEL =T (FEER) BRHE9(<4.0) BRHEET(<41) BREEY

26 NIm# R6.10.2 BEREL =T (FEER) BRHE9(<3.3) BRHEY(<38) BREEY

27 N /NG R6.10.4 BRUST=1T (HEE%) BRHEE9(<3.2) BRHEY(<28) BREEY

28 N /NG R6.10.4 HRAERLI 1T (HEE%) BRHEE9(<29) BRHEEY(<27) BREEY

29 =10 R6.10.3 7357 (ERE) BRHEE9(<3.2) 7.93 7.9

30 =10 R6.10.4 7387 (ERE) BRHEEY(<34) 12.4 12

31 =10 R6.10.2 a5 (BRE) BRHEET(<47) 39.8 40

32 RIS EHT R6.10.4 a5 (BRE) BRHE9(<3.2) 12.6 13

33 [EES= i) R6.10.4 INBITOAD (BEE) BHE9(<5.7) BHET(<47) BRHEY
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